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* Required

1. Your Name: Last, First *

2. Where did Rusty-James go when he left Benny's? * 1 point

Mark only one oval.

A. He went to the gym to work out.
B. He went to the drugstore to look at the magazines.
C. He went to his girlfriend's house.

D. He went home.

3. What did Patty want Rusty-James to do? * 1 point

Mark only one oval.

A. Stop fighting
B. Be careful
C. Take her to the movies

D. Get a gun
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4. What condition was Biff in? How did Rusty-James feel about it? * 1 point

Mark only one oval.
A. Biff was doped up. Rusty-dJames didn't like it because guys on dope could not tell if
they had been killed.

B. Biff was angry because his girlfriend had just broken up with him. Rusty-James said
it was dangerous to fight a guy who was mad about a girl.

C. Biff was drunk. Rusty-James was glad, because it made the fight easier for him.

D. Biff had been taking karate lessons and was in good shape. Rusty-James was
scared.

5. Rusty-James was upset that Biff was violating the rules. How was Biff doing 1 point
this? *

Mark only one oval.

A. Biff got to the empty lot early and booby-trapped it.
B. Biff had brought more friends than he said he would, so the sides were not even.
C. Biff had a knife and had not told him about it before the fight.

D. Biff had a gun, and the gangs had agreed not to use guns.

6. Which of the following did NOT happen during the fight? * 1 point

Mark only one oval.

A. Someone gave Rusty-James a bicycle chain.
B. The Motorcycle Boy broke Biff's wrist.
C. Biff cut Rusty-James along the side.

D. Someone called the police and they broke up the fight.
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7.

8.

9.

What had happened to the Motorcycle Boy in school? Why? * 1 point

Mark only one oval.

A. He had to repeat his senior year because he had been absent too often.

B. He was offered a chance to go to the technical school to study auto mechanics but
he turned it down because he didn't want to work.

C. He had skipped two grades when he was younger. Now he was too young to get a
job, although he was old enough to graduate high school.

D. He had been expelled because he had perfect semester test grades.

Which of the following statements about the Motorcycle Boy and Rusty- 1 point
James is true? *

Mark only one oval.

A. They Motorcycle Boy is nineteen and Rusty-James is sixteen.
B. Rusty-James said the Motorcycle Boy looked like a panther.
C. They are cousins.

D. They both have blonde hair and green eyes.

What did Steve say the difference between the Motorcycle Boy and Rusty 1 point
James was? *

Mark only one oval.

A. He said the Motorcycle Boy was tough, but Rusty-James only acted tough.

B. He could tell what Rusty-James was thinking, but not what the Motorcycle Boy was
thinking.

C. He said the Motorcycle Boy acted, but Rusty-James only bragged.

D. He said Rusty-James cared about people, but the Motorcycle Boy didn't.
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10. How did Rusty-James feel about the Motorcycle Boy? * 1 point

Mark only one oval.
A. He was jealous because the Motorcycle Boy got all of the attention.

B. He thought the Motorcycle Boy acted stupid.

C. He thought the Motorcycle Boy was "the coolest person in the world." He wanted
to be just like him.

D. He thought the Motorcycle Boy was nuts, and didn't like to be around him.
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